
Question 4:  

Every week Tom buys a magazine which always has a  puzzle. To solve it you have to colour in the squares in a grid 

by following the code that you have been given. 

Last week the code was  A15, B3, C17, E12 and this was the solution: 

 

 

 

 

 

• each letter corresponds to a line; 

• the number corresponds to the total of the numbers in the squares that need to be coloured in. 

 

Watch out! If two touching boxes both have the same number you cannot colour in them both. 

This week the code is  A14  B11  D7  E10. 

Colour in the squares on the worksheet to make the winning grid for this week. 

 
 

A 7 6 5 4 3 

B 7 6 5 4 3 

C 7 6 5 4 3 

D 7 6 5 4 3 

E 7 6 5 4 3 

A15 because it is in line 

A and 6 + 5 + 4 = 15 

 


